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=1.8 Bi=1.8

b
L% = [2(1-2 b +x8b? ) b? VEI dx = [ x - x%b +1/3 X°/b? ] b? 1/E3 48 A ——— ¢ A= 156. mm’
= 4
_ 2 _ s d J, = 69701. mm
=(b-b+1/3b)b*1EI =1/3 b /|sz | 3= 9072, mm*
L% = [2(x¢ ) b2 13 dx = [1/3 0% ] b? 1/E3 3= 132.6 mm*
=(1/3b) b> VEI = 1/3 bYEJ Yo =-9.705 mm
b Yy = 20.68 mm
L= [ (1 -2 x1b + X2 ) b LEI dx = [ x - b +1/3 0% | b 1/ED T =-1590. N
o o y
M, = -612150. N
=(b-b+1/3b)b>1/EI = 1/3 bYEJ x = -612150. Nmm
b Xp = 6.mm
%= [ (5% ) b 13 dx = [1/3 b* | b7 1/E3 Y . y,= 48.mm
— 2 - 3 u,= -12. mm
=(13b) b*1EI = 1/3 bb /EJ V= 2732
L% :J:(l) b® 1/EJ dx = [ X ]0 b* 1/EJ 0, =-Mv/J, = 240. N/mm?
=(b)b*1EI = bYEJ X, = 18.mm
b y.= 48.mm
L :_[2(1 ) b* UEIdx =[x ], b VEI v, = 27.32mm 2
D =-Mv/J, = 240.N/mm
=(b)b*1/EI = bYEJ =18 o || B 0, =-Mv/J,
() . o E C—— = —————— J F 1, = TS, = 26.93 N/mm’
Léi = JZ(l +2 x/b - X*Ib ) Fb® 1/EJ dx = [ X + x°/b -1/3 x*/b° ]0 Fb® 1/EJ D T, = TSk/tJu = 26.93 N/mm?
_ 2 _ 3 t. = 1590. mm
=(-b+b-1/3b) Fb’ VEJ =-1/3 Fb’/E mm o e = . 8 ¢ o = Votea = 2445 NI

1 = (- X6 ) Fo? 1/E3 dx = [-1/3 xp? | Fb? 1/E
=(-1/3b) Fb® 1/EJ =-1/3 Fb%EJ
LY = J:(-1/2 -x/b +1/2 X’Ib* ) Fb? 1/EJ dx -1 (-1) (-1) Fb%EJ
= [-1/2 x -1/2 X’1b +1/6 XIb? ]z Fb>1/EJ -1 (-1) (-1) Fb¥/EJ
=(-12b-1/2b+1/6 b ) Fb* 1/EJ -1 (-1) (-1) Fb*/EJ=-11/6 Fb/EJ
Ly = ﬁ(-l +1/2 10> ) Fb® /EI dx -1 (-1) (-1) FbY/EJ
= [-x+16 b2 ]) Fb? VEI -1 (1) (-1) FbYEI
=(-b+1/6b) Fb’ 1/EJ -1 (-1) (-1) FbY/EJ =-11/6 Fb’/EJ
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L% = [2(1-2 b +x8b? ) b? VEI dx = [ x - x%b +1/3 X°/b? ] b? 1/E3
=(b-b+1/3b) b*1/EJ = 1/3 bYEJ
L% = [2(x¢ ) b2 13 dx = [1/3 0% ] b? 1/E3
=(1/3b) b* 1/EJ = 1/3 bYEJ
L= (1 -2 xtb + % ) b 1/E3 dx = [ x - x2b +1/3 xb* | b7 1/E3
=(b-b+1/3b) b* 1/EJ = 1/3 b%EJ
%= [ (5% ) b 13 dx = [1/3 b* | b7 1/E3
=(1/3b) b* 1/EJ = 1/3 bYEJ
L% =[0(1) b* vEI dx = [ x ]| b? 1/E
=(b)b*1EJ = bYEJ
L% =[0(1) b vEI dx = [ x ]| b* 1/EY
=(b) b’ 1EJ = bYEJ
LY = ﬁ(s/z -2 x/b +1/2 X’Ib® ) Fb? /EJ dx - 1 (-1) (-1) Fb%/EJ
= [312 x - b +1/6 X°Ib? ]: Fb? 1/EJ -1 (-1) (-1) Fb*/EJ

=(32b-b+1/6b ) Fb’ 1/EJ -1 (-1) (-1) Fb¥EJ=-1/3 Fb’/EJ

L, = [2(xtb +1/2 X¥16> ) Fb? UEJ dx -1 (1) (-1) FbY/E
b
= [12m +16 x°b* ] Fb* VEJ -1 (-1) (-1) FbYE
=(1/2b+1/6 b)) Fb* 1/EJ -1 (-1) (-1) Fb*/EJ=-1/3 Fb/EJ
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a9 S e — - A= 175.mm’
J, = 80057. mm*
J,= 16674. mm*
J,= 152.4 mm*
Y, = 12.86 mm
Yy = 30.04 mm
- T,= -990.N
M, =-552750. Nmm
y X, = 11.mm
u,= -12. mm
V., =-30.04 mm
o, = -Mv/J, = -207.4 N/mm’
X, = 23.mm
v, =-30.04 mm
on % t:l";‘c 0, = -Mv/J, = -207.4 N/mmj
Jo Af———— ¢ 1. =TS /tJ, = 16.05 N/mm
B 1,=TS/tJ, = 16.05 N/mm”
. - o © t.= 330.mm
mm = S S 0, = Vo*+31° = 209.3 N/mm’
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